

Type of crime	Incidents	Victimizations	Ratio
Personal crimes	8,633,320	9,443,260	1.09
Crimes of violence	8,316,180	9,124,960	1.10
Completed violence	2,437,260	2,700,040	1.11
Attempted/threatened violence	5,878,920	6,424,920	1.09
Rape/Sexual assault	291,820	307,100	1.05
Rape/Attempted rape	181,390	196,660	1.08
Rape	96,110	97,580	1.02
Attempted rape/a	85,270	99,080	1.16
Sexual assault/b	110,430	110,430	1.00
Robbery	1,040,480	1,134,330	1.09
Completed/property taken	690,220	757,340	1.10
With injury	240,750	249,530	1.04
Without injury	449,470	507,810	1.13
Attempted to take property	350,260	376,980	1.08
With injury	75,460	79,460	1.05
Without injury	274,800	297,520	1.08
Assault	6,983,880	7,683,540	1.10
Aggravated	1,678,720	1,910,370	1.14
With injury	441,110	512,880	1.16
Threatened with weapon	1.237.610	1.397.480	1.13
Simple	5,305,160	5,773,170	1.09
With minor injury	1,117,920	1,240,330	1.11
Without injury	4.187.240	4.532.840	1.08
Purse snatching/Pocket picking	317,140	318,300	1.00
Completed purse snatching	50.530	50.530	1.00
Attempted purse snatching	24,800 *	24,800	1.00
Pocket picking	241,810	242,970	1.00

Note: Detail may not add to total shown because of rounding. \*Estimate is based on about 10 or fewer sample cases. a/Includes verbal threats of rape.

b/Includes threats.

Type of crime	Incidents	Victimizations	Ratio
Personal crimes	8,268,040	8,970,600	1.08
Crimes of violence	7,911,520	8,614,070	1.09
Completed violence	2,458,080	2,679,080	1.09
Attempted/threatened violence	5,453,430	5,934,990	1.09
Rape/Sexual assault	305,620	311,110	1.02
Rape/Attempted rape	190,280	193,790	1.02
Rape	115,120	115,120	1.00
Attempted rape/a	75,150	78,670	1.05
Sexual assault/b	115,340	117,310	1.02
Robbery	882,600	943,940	1.07
Completed/property taken	564,590	606,660	1.07
With injury	228,790	243,220	1.06
Without injury	335,800	363,440	1.08
Attempted to take property	318,010	337,280	1.06
With injury	68,360	72,680	1.06
Without injury	249,660	264,610	1.06
Assault	6,723,290	7,359,030	1.09
Aggravated	1,660,460	1,883,110	1.13
With injury	520,810	594,900	1.14
Threatened with weapon	1,139,650	1,288,210	1.13
Simple	5,062,830	5,475,920	1.08
With minor injury	1,154,650	1,257,530	1.09
Without injury	3,908,180	4,218,390	1.08
Purse snatching/Pocket picking	356,530	356,530	1.00
Completed purse snatching	54,980	54,980	1.00
Attempted purse snatching	15,820 *	15,820	1.00
Pocket picking	285,730	285,730	1.00

Note: Detail may not add to total shown because of rounding.
\*Estimate is based on about 10 or fewer sample cases.

a/Includes verbal threats of rape.

Type of crime	Incidents	Victimizations	Ratio
Personal crimes	7,729,290	8,411,860	1.09
Crimes of violence	7,433,670	8,116,240	1.09
Completed violence	2,350,550	2,563,740	1.09
Attempted/threatened violence	5,083,120	5,552,500	1.09
Rape/Sexual assault	328,130	332,500	1.01
Rape/Attempted rape	195,400	199,760	1.02
Rape	109,120	110,270	1.01
Attempted rape/a	86,270	89,490	1.04
Sexual assault/b	132,740	132,740	1.00
Robbery	833,050	886,490	1.06
Completed/property taken	572,270	609,710	1.07
With injury	159,090	170,290	1.07
Without injury	413,180	439,420	1.06
Attempted to take property	260,770	276,780	1.06
With injury	64,880	69,500	1.07
Without injury	195.900	207.290	1.06
Assault	6,272,490	6,897,250	1.10
Aggravated	1,457,800	1,673,640	1.15
With injury	474,320	547,280	1.15
Threatened with weapon	983,480	1,126,370	1.15
Simple	4,814,690	5,223,610	1.08
With minor injury	1,073,810	1,175,470	1.09
Without injury	3,740,870	4,048,140	1.08
Purse snatching/Pocket picking	295,620	295,620	1.00
Completed purse snatching	47,350	47,350	1.00
Attempted purse snatching	9,290 *	9,290	1.00
Pocket picking	238,980	238,980	1.00

Note: Detail may not add to total shown because of rounding. \*Estimate is based on about 10 or fewer sample cases. a/Includes verbal threats of rape.

b/Includes threats.

Type of crime	Incidents	Victimizations	Ratio
Personal crimes	6,930,020	7,564,680	1.09
Crimes of violence	6,723,930	7,357,060	1.09
Completed violence	2,077,350	2,278,260	1.10
Attempted/threatened violence	4,646,580	5,078,790	1.09
Rape/Sexual assault	381,400	383,170	1.00
Rape/Attempted rape	200,880	200,880	1.00
Rape	141,070	141,070	1.00
Attempted rape/a	59,810	59,810	1.00
Sexual assault/b	180,530	182,290	1.01
Robbery	740,890	810,220	1.09
Completed/property taken	482,340	530,250	1.10
With injury	173,020	189,080	1.09
Without injury	309,330	341,170	1.10
Attempted to take property	258,550	279,970	1.08
With injury	69,510	78,080	1.12
Without injury	189,040	201,890	1.07
Assault	5,601,630	6,163,670	1.10
Aggravated	1,290,360	1,503,280	1.17
With injury	381,030	449,160	1.18
Threatened with weapon	909,330	1,054,110	1.16
Simple	4,311,270	4,660,400	1.08
With minor injury	915,200	998,310	1.09
Without injury	3,396,070	3,662,090	1.08
Purse snatching/Pocket picking	206,090	207,630	1.01
Completed purse snatching	33,930	33,930	1.00
Attempted purse snatching	6,910 *	6,910 *	1.00
Pocket picking	165,240	166,780	1.01

Note: Detail may not add to total shown because of rounding.
\*Estimate is based on about 10 or fewer sample cases.

a/Includes verbal threats of rape.

b/Includes threats.

Type of crime	Incidents	Victimizations	Ratio
Personal crimes	6,087,200	6,596,690	1.08
Crimes of violence	5,815,540	6,322,730	1.09
Completed violence	1,875,790	2,044,050	1.09
Attempted/threatened violence	3,939,750	4,278,690	1.09
Rape/Sexual assault	256,770	260,950	1.02
Rape/Attempted rape	147,160	147,160	1.00
Rape	92,440	92,440	1.00
Attempted rape/a	54,720	54,720	1.00
Sexual assault/b	109,620	113,790	1.04
Robbery	688,310	731,780	1.06
Completed/property taken	482,860	520,120	1.08
With injury	149,920	160,480	1.07
Without injury	332,940	359,640	1.08
Attempted to take property	205,440	211,660	1.03
With injury	63,150	65.700	1.04
Without injury	142.290	145,960	1.03
Assault	4.870.460	5,330,010	1.09
Aggravated	1,114,520	1,292,510	1.16
With injury	296,850	346,090	1.17
Threatened with weapon	817.670	946.420	1.16
Simple	3,755,940	4,037,500	1.07
With minor injury	909,000	989,020	1.09
Without injury	2.846.950	3.048.480	1.07
Purse snatching/Pocket picking	271,670	273,960	1.01
Completed purse snatching	57.040	57,040	1.00
Attempted purse snatching	8.850 *	8.850 *	1.00
Pocket picking	205.770	208.060	1.01

Note: Detail may not add to total shown because of rounding. \*Estimate is based on about 10 or fewer sample cases. a/Includes verbal threats of rape.

b/Includes threats.

Type of crime	Incidents	Victimizations	Ratio
Personal crimes	5,503,870	5,932,190	1.08
Crimes of violence	5,315,500	5,743,820	1.08
Completed violence	1,676,460	1,828,280	1.09
Attempted/threatened violence	3,639,040	3,915,540	1.08
Rape/Sexual assault	240,980	248,250	1.03
Rape/Attempted rape	142,950	146,240	1.02
Rape	80,330	83,620	1.04
Attempted rape/a	62,620	62,620	1.00
Sexual assault/b	98,040	102,010	1.04
Robbery	590,380	630,690	1.07
Completed/property taken	394,330	426,680	1.08
With injury	162,140	173,730	1.07
Without injury	232,190	252,950	1.09
Attempted to take property	196,050	204,000	1.04
With injury	63,910	67,740	1.06
Without injury	132,140	136,260	1.03
Assault	4,484,140	4,864,890	1.08
Aggravated	1,073,410	1,222,160	1.14
With injury	333,740	391,530	1.17
Threatened with weapon	739,670	830,630	1.12
Simple	3,410,730	3,642,720	1.07
With minor injury	789,570	844,940	1.07
Without injury	2,621,160	2,797,780	1.07
Purse snatching/Pocket picking	188,370	188,370	1.00
Completed purse snatching	20,520 *	20,520 *	1.00
Attempted purse snatching	9,430 *	9,430 *	1.00
Pocket picking	158,410	158,410	1.00

Note: Detail may not add to total shown because of rounding.
\*Estimate is based on about 10 or fewer sample cases.

a/Includes verbal threats of rape.

b/Includes threats.

Type of crime	Incidents	Victimizations	Ratio
Personal crimes	5,077,230	5,496,810	1.08
Crimes of violence	4,923,050	5,341,410	1.08
Completed violence	1,605,900	1,753,090	1.09
Attempted/threatened violence	3,317,150	3,588,320	1.08
Rape/Sexual assault	247,730	247,730	1.00
Rape/Attempted rape	167,860	167.860	1.00
Rape	90.390	90.390	1.00
Attempted rape/a	77,470	77.470	1.00
Sexual assault/b	79,870	79.870	1.00
Robbery	458.460	512.490	1.12
Completed/property taken	341.910	385,880	1.13
With injury	159.120	169.980	1.07
Without injury	182.790	215.890	1.18
Attempted to take property	116,550	126,610	1.09
With injury	39.040	42.600	1.09
Without injury	77,510	84.020	1.08
Assault	4,216,850	4.581.190	1.09
Aggravated	848,030	990,110	1.17
With injury	273.670	316.260	1.16
Threatened with weapon	574.360	673.850	1.17
Simple	3,368,820	3,591,090	1.07
With minor injury	845,940	906,580	1.07
Without injury	2.522.890	2.684.510	1.06
Purse snatching/Pocket picking	154,190	155,400	1.01
Completed purse snatching	54,190	55,400	1.02
Attempted purse snatching	2.140 *	2.140 *	1.00
Pocket picking	97.860	97.860	1.00
Fucket picking	97,000	97,000	1.00

Note: Detail may not add to total shown because of rounding. \*Estimate is based on about 10 or fewer sample cases.

a/Includes verbal threats of rape.

b/Includes threats.

Type of crime	Incidents	Victimizations	Ratio
Personal crimes	5,131,480	5,586,420	1.09
Crimes of violence	4,949,380	5,401,720	1.09
Completed violence	1,513,500	1,654,990	1.09
Attempted/threatened violence	3,435,880	3,746,730	1.09
Rape/Sexual assault	191,350	198,850	1.04
Rape/Attempted rape	112,340	116,890	1.04
Rape	72,240	72,240	1.00
Attempted rape/a	40,100	44,650	1.11
Sexual assault/b	79,020	81,950	1.04
Robbery	552,830	596,130	1.08
Completed/property taken	353,520	377,870	1.07
With injury	158,770	160,200	1.01
Without injury	194,750	217,670	1.12
Attempted to take property	199,320	218,270	1.10
With injury	48,530	53,710	1.11
Without injury	150,790	164,560	1.09
Assault	4,205,190	4,606,740	1.10
Aggravated	947,780	1,101,110	1.16
With injury	300,350	361,600	1.20
Threatened with weapon	647,430	739,510	1.14
Simple	3,257,410	3,505,630	1.08
With minor injury	714,250	768,960	1.08
Without injury	2,543,160	2,736,670	1.08
Purse snatching/Pocket picking	182,110	184,700	1.01
Completed purse snatching	57,670	60,260	1.05
Attempted purse snatching	4,480 *	4,480 *	1.00
Pocket picking	119,960	119,960	1.00

Note: Detail may not add to total shown because of rounding.

<sup>\*</sup>Estimate is based on about 10 or fewer sample cases. a/Includes verbal threats of rape.

b/Includes threats.

Type of crime	Incidents	Victimizations	Ratio
Personal crimes	5,004,150	5,406,740	1.08
Orienza of violence	4 704 000	5 400 070	4.00
Crimes of violence Completed violence	4,781,660 1,577,590	5,182,670 1,737,000	1.08 1.10
Attempted/threatened violence	3,204,070	3,445,670	1.08
•	, ,	, ,	
Rape/Sexual assault	207,240	209,880	1.01
Rape/Attempted rape	99,430	101,000	1.02
Rape	57,220	58,780	1.03
Attempted rape/a	42,220	42,220	1.00
Sexual assault/b	107,810	108,880	1.01
Robbery	459,800	501,820	1.09
Completed/property taken	272,310	299,240	1.10
With injury	99,130	110,200	1.11
Without injury	173,180	189,040	1.09
Attempted to take property	187,490	202,580	1.08
With injury	66,870	70,650	1.06
Without injury	120,620	131,940	1.09
Assault	4,114,620	4,470,960	1.09
Aggravated	895,340	1,030,080	1.15
With injury	311,550	377,840	1.21
Threatened with weapon	583,790	652,240	1.12
Simple	3,219,280	3,440,880	1.07
With minor injury	834,570	898,120	1.08
Without injury	2,384,710	2,542,760	1.07
Purse snatching/Pocket picking	222,490	224,070	1.01
Completed purse snatching	27,980 *	27,980 *	1.00 *
Attempted purse snatching	14,840 *	14,840 *	1.00 *
Pocket picking	179,670	181,250	1.01

Note: Detail may not add to total shown because of rounding. \*Estimate is based on about 10 or fewer sample cases. a/Includes verbal threats of rape.

Type of crime	Incidents	Victimizations	Ratio
Personal crimes	4,945,400	5,400,790	1.09
Crimes of violence	4,718,330	5,173,720	1.10
Completed violence	1,536,990	1,658,660	1.08
Attempted/threatened violence	3,181,340	3,515,060	1.10
Rape/Sexual assault	188,960	191,670	1.01
Rape/Attempted rape	127,430	130,140	1.02
Rape	69,370	69,370	1.00
Attempted rape/a	58,060	60,770	1.05
Sexual assault/b	61,530	61,530	1.00
Robbery	569,470	624,850	1.10
Completed/property taken	381,070	415,320	1.09
With injury	126,440	142,830	1.13
Without injury	254,640	272,490	1.07
Attempted to take property	188,400	209,530	1.11
With injury	62,230	64,450	1.04
Without injury	126,170	145,090	1.15
Assault	3,959,900	4,357,190	1.10
Aggravated	926,060	1,052,260	1.14
With injury	306,480	330,730	1.08
Threatened with weapon	619,580	721,530	1.16
Simple	3,033,840	3,304,930	1.09
With minor injury	732,080	795,240	1.09
Without injury	2,301,770	2,509,690	1.09
Purse snatching/Pocket picking	227,070	227,070	1.00
Completed purse snatching	43,550	43,550	1.00
Attempted purse snatching	3,260 *	3,260 *	1.00 *
Pocket picking	180,260	180,260	1.00

Note: Detail may not add to total shown because of rounding. \*Estimate is based on about 10 or fewer sample cases. a/Includes verbal threats of rape.

Type of crime	Incidents	Victimizations	Ratio
Personal crimes	5,858,840	6,267,610	1.07
Crimes of violence	5,685,620	6,094,390	1.07
Completed violence	1,877,320	2,019,260	1.08
Attempted/threatened violence	3,808,300	4,075,130	1.07
Rape/Sexual assault	255,630	260,940	1.02
Rape/Attempted rape	187,010	192,320	1.03
Rape	113,290	116,600	1.03
Attempted rape/a	73,720	75,720	1.03
Sexual assault/b	68,620	68,620	1.00
Robbery	645,950	712,610	1.10
Completed/property taken	455,530	482,290	1.06
With injury	201,430	208,140	1.03
Without injury	254,110	274,150	1.08
Attempted to take property	190,410	230,320	1.21
With injury	30,950 *	43,340	1.40
Without injury	159,460	186,980	1.17
Assault	4,784,040	5,120,840	1.07
Aggravated	1,209,730	1,344,280	1.11
With injury	413,610	466,610	1.13
Threatened with weapon	796,120	877,670	1.10
Simple	3,574,320	3,776,550	1.06
With minor injury	841,980	900,850	1.07
Without injury	2,732,340	2,875,700	1.05
Purse snatching/Pocket picking	173,220	173,220	1.00
Completed purse snatching	34,250 *	34,250 *	1.00 *
Attempted purse snatching	6,870 *	6,870 *	1.00 *
Pocket picking	132,110	132,110	1.00

Note: Detail may not add to total shown because of rounding. \*Estimate is based on 10 or fewer sample cases. a/Includes verbal threats of rape.

b/Includes threats.

Type of crime	Incidents	Victimizations	Ratio
Personal crimes	5,086,060	5,371,190	1.06
Crimes of violence	4,892,000	5,177,130	1.06
Completed violence	1,499,720	1,578,870	1.05
Attempted/threatened violence	3,392,280	3,598,260	1.06
Rape/Sexual assault	248,280	248,280	1.00
Rape/Attempted rape	140,620	140,620	1.00
Rape	69,850	69,850	1.00
Attempted rape/a	70,770	70,770	1.00
Sexual assault/b	107,660	107,660	1.00
Robbery	566,270	597,320	1.05
Completed/property taken	421,540	444,010	1.05
With injury	160,540	169,980	1.06
Without injury	261,010	274,020	1.05
Attempted to take property	144,730	153,320	1.06
With injury	41,320	43,440	1.05
Without injury	103,400	109,870	1.06
Assault	4,077,450	4,331,530	1.06
Aggravated	775,060	858,940	1.11
With injury	203,990	221,340	1.09
Threatened with weapon	571,080	637,590	1.12
Simple	3,302,390	3,472,590	1.05
With minor injury	718,550	757,890	1.05
Without injury	2,583,840	2,714,710	1.05
Purse snatching/Pocket picking	194,060	194,060	1.00
Completed purse snatching	30,070 *	30,070 *	1.00 *
Attempted purse snatching	7,690 *	7,690 *	1.00 *
Pocket picking	156,300	156,300	1.00

Note: Detail may not add to total shown because of rounding.

<sup>\*</sup>Estimate is based on 10 or fewer sample cases. a/Includes verbal threats of rape.